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In [1]:

for i in [1, 2, 3]:print(i)
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In [2]:

for i in (1, 2, 3):print(i)
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In [3]:

for ¢ in i love python’ :print(c)

i

® < O ==

-5 0O O+ < T



In [5]:
list (enumerate ([1, 2, 3]))
Out[5]:

[0, D, (1, 2), 2, 3)]

In [6]:

def enumerate(iterator):i = Ofor v in iterator:yield i, vi += 1

In [7]:

def enumerate(iterator):ret = []i = Ofor v in iterator:ret.append((i, v))i += lreturn
ret

In [9]:

len(range (5)) # AJIEAXT R AR AT LA lensk B B

Out [9]:

5

In [13]:

r = range (5)

In [14]:
list(r)
Out[14]:
[0, 1, 2, 3, 4]

In [16]:

it = iter(r)

In [17]:
type(it)
Out[17]:

range iterator

In [18]:
list(it)
Out[18]:
[0, 1, 2, 3, 4]



In [20]:

it = iter(r)

In [21]:
next (it)
Out[21]:
0

In [22]:
next (it)

Outl[22]:
1

In [24]:
next (it)
Out[24]:
2

In [27]:

next (it)

—Stoplteration Traceback (most recent call
last)

{ipython—input—-27-2cdb14c0d4d6> in <module>()———> 1 next(it)Stoplterati
on:

In [28]:

it = iter([1, 2, 3])

In [29]:
type(it)
Out[29]:

list iterator
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In [30]:

1st = list(range(10))



In [31]:

1st
Out[31]:
[0, 1, 2, 3, 4, 5, 6, 7, 8, 9]

In [32]:
Ist[3]
Out[32]:
3

Ist[start:stop] BJLAAENX Mist—ER , MstartFHig , ZElstopsEsk , A8 S stop

In [37]:

1st[3:7] # MWEII3FE, FIRSITER, AEEFT7, REEFMIist, ASXEAE R stBTAE
M

Out[37]:
(3, 4, 5, 6]

In [35]:

Ist

Out[35]:

[0, 1, 2, 3, 4, 5, 6, 7, 8, 9]

LstartJORTRILAE B

In [38]:
Ist[:4]
Out[38]:
[0, 1, 2, 3]

LstopI-O0RS AT LAEHE

In [39]:

Ist[3:]

Out[39]:

(3, 4, 5, 6, 7, 8, 9]



In [41]:

Ist[:] # &% T copyl7ik
Out[41]:

[0, 1, 2, 3, 4, 5, 6, 7, 8, 9]

In [43]:
Ist[-5:-3] # SZFERA
Out[43]:

(5, 6]

In [44]:

Ist[:100]

Out[44]:

[0, 1, 2, 3, 4, 5, 6, 7, 8, 9]

In [45]:

1st[-100:]

Out[45]:

[0, 1, 2, 3, 4, 5, 6, 7, 8, 9]

In [46]:

1st[-100: 100]

Out[46]:

[0, 1, 2, 3, 4, 5, 6, 7, 8, 9]

o start BHEZESSBHE : start=0
« stop #BHZESSEE : stop =-0

In [48]:

1st[100: ] # 1st[100: -1]
Out[48]:

[]

In [49]:

1st[:=100] # 1st[0: —100]
Out[49]:

]



In [50]:

1st[100: -100]

Out[50] :
[]

In [52]:

1st[3: 1] # Hstart >= stop I, REIZFFHIF
Out[52]:

[]

In [53]:
Ist[3:3]
Out [53]:
[]

In [54]:

Ist[3: -1]  #7#R5] Lhrb%F  len(Ist) + index 10 + (-1) =9
Out[54]:

(3, 4, 5, 6, 7, 8]

In [55]:
len(lst)

Out [55]:
10
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In [67]:

def slice(lst, start=0, stop=0):if start < 0:start = len(lst) + startif stop <= O:stop
= len(Ist) + stopif stop <= start:return []if stop > len(lst):stop = len(lst)if start
< 0:start = Oret = [Jfor i, v in enumerate(lst):if i >= start and i < stop:ret.appen

d(v)return ret



In [71]:

slice(1st, —100, 100)

Out[71]:

[0, 1, 2, 3, 4, 5, 6, 7, 8 9]

Ist[start: stop: step] step SEFRR—IKIGINZ D

In [72]:
1st[3:8:2]
Out[72]:
[3, 5, 7]

In [73]:

Ist

Out[73]:

[0, 1, 2, 3, 4, 5 6, 7, 8, 9]

In [74]:
1st[8:3:-2]
Out [74]:

(8, 6, 4]

In [1]:

def slice(lst, start=0, stop=0, step=1):ret = [Jcurrent = startif step > 0:while curre
nt < stop:try:ret.append(lstlcurrent])except IndexError:passcurrent += stepif step <
O0:while current > stop:try:ret.append(lst[current])except IndexError:passcurrent +=
stepreturn ret

In [2]:

Ist = list(range (10))

In [3]:
Ist[8: 5: —1]
Out[3]:

(8, 7, 6]



In [4]:

slice(lst, 8, 5, -1)
Out[4]:

(8, 7, 6]

In [5]:

slice(lst, 5, 8, 1)
Out[5]:

(5, 6, 7]

In [6]:

slice(1st, -10, 20, 1)

Out[6]:

[0, 1, 2, 3, 4, 5,6, 7,8 9,0, 1, 2, 3, 4, 5, 6, 7, 8, 9]

In [8]:

slice(1st, 20, -10, -1)

Out[8]:

(9, 8, 7, 6, 5, 4, 3, 2, 1, 0, 9, 8 7, 6, 5, 4, 3, 2, 1]
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